H & 0 & AF &2 &E Al A
SN BMDSHE
MM NSAMALG
S WSI2 XFAY (SH2:EH)
2A-F3H-H2A(3) - MY - BES O] Ak I & Hns2Z
=R IMES RIS 2,136,993 3,323,108 ~1,186,115
= 39,300 25,000 14,300
= 2,097,693 3,298,108 A1,200,415
WSHAYHALG 72,300 2,212,530 A2,140,230
[ 39,300 25,000 14,300
2 33,000 2,187,530 A2,154,530
WEIZ XA 64,300 2,204,530 A2,140,230
[ 39,300 25,000 14,300
2 25,000 2,179,530 A2,154,530
g=stn 29 0 536,730 536,730
308 AIXISHRSOIA 0 536,730 A536,730
08 WSKI|20CHSHE = 0 536,730 A536,730
o Ylsstn 2 (244 1) 338 0¥ 0 536,730 ~536,730
AZ0EIR 29 0 883,300 883,300
308 AHXI SHRIS O & 0 883,300 883,300
08 WSKI|2A0CHEE X 0 883,300 883,300
o 2A=0! MEHEH 29 A 0¥ 0 170,000 A 170,000
o HOoNELNY 29 a3y o 0 165,000 A 165,000
o 2AQ H0of BEDMAHIXI (1194 A)
3 02 0 548,300 548,300
WEEAMNMALY 0 734,500 A 734,500
308 XHXI RIS Ol ® 0 734,500 A 734,500
08 WSKI|I20ICHSH S = 0 734,500 A734,500
o MEEX(5H2A) A 0 0 82,500 A 82,500
o QAAESH (20 A) 33 0¥ 0 60,000 260,000
o JIEgst W (2HA) a3 02 0 120,000 A 120,000
o @eissaxe aF o 0 100,000 100,000
o ANREFEW 3y o 0 15,000 A 15,000
o Foi4std IAME o aF o 0 52,000 252,000
o HEANWSH Ay o 0 50,000 250,000
o XIS W SEFAY A 0 0 200,000 200,000
o BENMISRY aF 0 0 20,000 A20,000
o FYoAAg o FRUSI| AlY AN 0 0 35,000 35,000
SHENS SAD 4 HAY 14,300 0 14,300
= 14,300 0 14,300
308 AHXI SHRI SOl & 14,300 0 14,300
= 14,300 0 14,300
08 WKI|I2A0CHEE X 14,300 0 14,300
o 50&E XY 4D 4 XN¥ AFY(2HR)
14,300,000 14,300 0 14,300
= 14,300 0 14,300
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2N
X ZH -
L= B

el

B DS ME
HYSSHIH RE
sty =2

SA-3H-S(3AH) - MRAS - BES Off &t 24 INEH Husz
g sHA 7= 1,314,258 460,343 853,915
gdstg = 1,134,352 280,437 853,915
21MI21 2402t 0l 1,123,752 269,837 853,915
306 £ = 859,000 5,000 854,000
01 £¢= 859,000 5,000 854,000
o LS E¢H= 2 & 859,000,000 859,000 5,000 854,000
307 21201 A 170,867 170,952 N85
05 QIZtRIE 3 170,867 170,952 A 85
o 28 EJZME(21MIII Z&O0t3tdl0l 20
4 J1g) 17,000,000& * 13} 17,000 0 17,000
= 21MJ1 Z4otatalol 2¢
23 3,017,000& * 513 153,867 170,952 A 17,085
22| 25 ¥ 2el 567,941 467,741 100,200
SZsH0tm=a 2e 29 418,526 348,526 70,000
sZsH03a 249 418,526 348,526 70,000
401 AIEHIZ 2 I 190,000 120,000 70,000
01 A& HI 190,000 120,000 70,000
o EZSHOIIA AEE E=
2 & 170,000,000 = 14 170,000 100,000 70,000
AN RS2 28 - 22 30,200 0 30,200
2N RSN 2F - 2 30,200 0 30,200
401 AIEBIZ 2 CHYI 30,200 0 30,200
01 A€ HI 30,200 0 30,200
o RSN NSEF 30,200,000 = 14 30,200 0 30,200
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